
ROUND TABLE WITH 4 BENCHES

HANDLEIDING - MODE D’EMPLOI  
MANUAL - ANLEITUNG





NL ............................................................................................................................................................... 4 - 8

Onderdelen................................................................................................................................................................................................ 4 
Montage................................................................................................................................................................................................ 5 - 7 
Plaatsing..................................................................................................................................................................................................... 8 

FR .............................................................................................................................................................10 - 14

Liste des pièces.......................................................................................................................................................................................10 
Montage.............................................................................................................................................................................................. 11 - 13  
Implantation............................................................................................................................................................................................14

EN ............................................................................................................................................................ 16 - 20

Parts............................................................................................................................................................................................................. 16 
Assembly...........................................................................................................................................................................................16 - 19 
Placement................................................................................................................................................................................................20 

DE ............................................................................................................................................................22 - 26

Teile............................................................................................................................................................................................................. 22 
Montage........................................................................................................................................................................................... 23 - 25 
Aufstellung.............................................................................................................................................................................................. 26



ONDERDELEN

4 RONDE TAFEL MET 4 BANKEN - HANDLEIDINGNL

BENODIGD GEREEDSCHAP

•	 2 sleutels nr. 13

•	 Inbussleutels 

SAMENSTELLING VAN DE KIT

1 tafelblad Ø 135 cm; 4 tafelpoten; 4 dwarsverbindingen voor de tafel; 8 rechthoekige 
wiggen; 4 bankzittingen; 8 bankpoten; 4 dwarsverbindingen voor banken; 8 afgeschuinde 
wiggen; 12 M8-draadstangen van 16cm; 8 M8-draadstangen van 11cm; 16 M8-draadstangen 

van 8cm; 80 M8-moeren en sluitringen; 12 M8-zeskantbouten; 12 M8-schroefmoeren

Er zijn gaten voorgeboord overal waar er schroeven komen.



5 RONDE TAFEL MET 4 BANKEN - HANDLEIDING NL

1

12

6

3

4 5 7

8

2 5

3

4

6

7



MONTAGE

3

5

5

4

4 6

7

1

3

2

6 4

NL

Stap  1: Bevestig de bankpoten (1) op de zittingen (7) met de M8-draadstangen van 8cm, 
sluitringen en M8-moeren. Bevestig vervolgens aan elk uiteinde van de dwarsverbindingen 
voor de banken een M8-schroefmoer. Monteer de dwarsverbindingen (2) op de bankpoten (1) 
met zeskantbouten. 

Stap 3: Monteer de dwarsverbindingen van de tafel (4) op de banken met twee rechthoekige 
wiggen (5) aan elke kant van de tafelpoten (3) en twee afgeschuinde wiggen (6) aan elke kant 
van de centrale versteviging van de bankzittingen. Bevestig het geheel met M8-draadstangen 
van 16cm, sluitringen en M8-moeren. 

Stap  2: Steek M8-schroefmoeren in elke tafelpoot (3) 
en monteer de poten op de dwarsverbindingen van de 
bank met zeskantbouten. 

6 RONDE TAFEL MET 4 BANKEN - HANDLEIDING



3 3

3 3

NL

Stap  4: Monteer de twee constructies (banken/dwarsverbindingen) door ze te kruisen met 
behulp van de daarvoor bestemde inkepingen in de dwarsverbindingen van de tafel. Bevestig 
vervolgens het tafelblad (8) op de tafelpoten (3) met M8-draadstangen van 11cm, sluitringen 
en M8-moeren. 

7 RONDE TAFEL MET 4 BANKEN - HANDLEIDING



PIÈCES

8 TABLE RONDE AVEC 4 BANCS - MODE D’EMPLOIFR

BENODIGDE GEREEDSCHAPPEN

•	 2 sleutels nr. 13

•	 Clés Allen 

COMPOSITION DU KIT

1 Plateau de table Ø 135 cm; 4 Pieds de table; 4 Traverses de table; 8 Cales rectangulaires;  
4 Assises de banc; 8 Pieds de banc; 4 Traverses de banc; 8 Cales biseautées;  

12 Tiges f iletées M8 de 16 cm; 8 Tiges f iletées M8 de 11 cm; 16 Tiges f iletées M8 de 8 cm;  
80 Ecrous M8 et rondelles; 12 Vis 6 pans M8; 12 Ecrous M8 à visser

Il y a des trous pré-percés partout où des vis sont nécessaires.



9 TABLE RONDE AVEC 4 BANCS - MODE D’EMPLOI FR

1

12

6

3

4 5 7

8

2 5

3

4

6

7



Etappe 1: Assemblez les pieds de banc (1) aux assises (7) à l’aide des tiges f iletées M8 de 8cm, 
des rondelles et des écrous M8. Ensuite, insérez à chaque extrémité des traverses de banc (2) 
un écrou à visser M8. Assemblez les traverses (2) aux pieds de banc (1) à l’aide des vis 6 pans. 

Etappe 3: Assemblez les traverses de table (4) aux bancs en insérant deux cales  
rectangulaires (5) de chaque côté des pieds de table (3) et deux cales biseautées (6) de chaque 
côté du renfort central d’assise des bancs. Fixez l’ensemble à l’aide des tiges f iletées M8 de 
16cm, des rondelles et des écrous M8. 

Etappe 2: Insérez un écrou à visser M8 sur chaque pied 
de table (3) et assemblez-les aux traverses de banc (2) à 
l’aide des vis 6 pans. 

MONTAGE

FR

3

5

5

4

4 6

7

1

3

2

6 4

10 TABLE RONDE AVEC 4 BANCS - MODE D’EMPLOI



Etappe 4: Assemblez les deux sous-ensembles Bancs/Traverses en les croisant à l’aide des 
entailles des traverses de table prévues à cet effet. Fixez ensuite le plateau (8) aux pieds de 
table (3) à l’aide des tiges f iletées M8 de 11cm, des rondelles et des écrous M8. 

FR

3 3

3 3

11 TABLE RONDE AVEC 4 BANCS - MODE D’EMPLOI



PARTS

12 ROUND TABLE WITH 4 BENCHES - MANUALEN

TOOLS NEEDED

•	 2 x no. 13 wrenches

•	 Allen keys 

COMPOSITION OF THE KIT

1 table top Ø 135cm; 4 table legs; 4 table beams; 8 rectangular spacers;  
4 bench seats; 8 bench legs; 4 bench beams; 8 bevelled spacers;  

12 M8 16 cm threaded rods; 8 M8 11 cm threaded rods; 16 M8 8 cm threaded rods;  
80 M8 nuts and washers; 12 M8 hex bolts; 12 M8 gland nuts

There are pre-drilled holes everywhere bolts are needed.



13 ROUND TABLE WITH 4 BENCHES - MANUAL EN

1

12

6

3

4 5 7

8

2 5

3

4

6

7



Step 1: Fit the bench legs (1) onto the seats (7) using the M8 8cm threaded rods and M8 
washers and nuts. Then insert an M8 gland nut onto each end of the bench beams (2). Fit the 
beams (2) to the bench legs (1) using hex bolts. 

Step 3: Fit the table beams (4) to the benches by inserting two rectangular spacers (5) on 
each side of the table legs (3) and two bevelled spacers (6) to each side of the central seat 
reinforcement of the benches. Then, using the M8 16 cm threaded rods, fasten the washers 
and M8 nuts. 

Step 2: Insert an M8 gland nut to each table leg (3) and 
f it them to the bench beams (2) using the hex bolts. 

ASSEMBLY

3

5

5

4

4 6

7

1

3

2

6 4

EN 14 ROUND TABLE WITH 4 BENCHES - MANUAL



Step 4: Fit the two bench/beam sub-assemblies by crossing them using the notches for table 
beams provided for that purpose. Then fasten the top (8) to the table legs (3) using the M8 11 
cm threaded rods, washers and M8 nuts. 

3 3

3 3

EN15 ROUND TABLE WITH 4 BENCHES - MANUAL



TEILE

16 RUNDER TISCH MIT 4 BÄNKEN – ANLEITUNGDE

BENODIGDE GEREEDSCHAPPEN

•	 2 sleutels nr. 13

•	 Inbusschlüssel 

DAS SET ENTHÄLT:

1 Tischplatte Ø 135 cm; 4 Tischbeine; 4 Tischtraversen; 8 rechtwinkelige Distanzhalter; 
4 Sitzplatten; 8 Bankbeine; 4 Banktraversen; 8 abgeschrägte Distanzhalter; 

12 Gewindestifte M8 mit 16 cm; 8 Gewindestifte M8 mit 11 cm; 16 Gewindestifte M8 mit 8 cm; 
80 Muttern M8 mit Unterlegscheiben; 12 Sechskantschrauben M8; 12 Schraubmuttern M8

Alle erforderlichen Löcher für Schrauben sind bereits vorgebohrt.



17 RUNDER TISCH MIT 4 BÄNKEN – ANLEITUNG DE

1

12

6

3

4 5 7

8

2 5

3

4

6

7



DE

Schritt 1: Montieren Sie die Bankbeine (1) mit den Gewindestiften M8 mit 8 cm, Muttern M8 und 
Unterlegscheiben an den Sitzplatten (7). Schrauben Sie dann in jedes Ende der Banktraversen 
(2) eine Schraubmutter M8. Montieren Sie die Traversen (2) mit den Sechskantschrauben an 
den Bankbeinen (1). 

Schritt 3: Montieren Sie die Tischtraversen (4) an den Bänken, indem Sie an jeder Seite der 
Tischbeine (3) zwei rechteckige Distanzhalter (5) und an jeder Seite der zentralen Verstärkung 
der Sitzplatten zwei abgeschrägte Distanzhalter (6) anbringen. Fixieren Sie mit den 
Gewindestiften M8 mit 16 cm, Muttern M8 und Unterlegscheiben. 

Schritt  2: Schrauben Sie in jedes Tischbein (3) eine 
Schraubmutter  M8 und montieren Sie sie mit den 
Sechskantschrauben an den Banktraversen (2). 

MONTAGE

3

5

5

4

4 6

7

1

3

2

6 4

18 RUNDER TISCH MIT 4 BÄNKEN – ANLEITUNG



DE

Schritt 4: Montieren Sie die beiden Untereinheiten aus Bank/Traversen, indem Sie sie an den 
dafür vorgesehenen Einkerbungen der Tischtraversen überkreuzen. Fixieren Sie dann die 
Tischplatte (8) mit den Gewindestiften  M8 mit 11  cm, Muttern  M8 und Unterlegscheiben an 
den Tischbeinen (3). 

3 3

3 3

19 RUNDER TISCH MIT 4 BÄNKEN – ANLEITUNG



WWW.PARTYSPACE.EU

Partyspace bv - Potteriestraat 67 - 8980 Beselare - BELGIUM - Phone +32 (0)57 36 03 30 - BTW BE 0830 189 643


